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Priorities Decision Matrix

These are the resulting weights for the criteria The resulting weights are based on the principal eigenvector of

based on your pairwise comparisons: the decision matrix:
Cat Priority Rank () (6] 1 2 3
1 Topography 24.0% 2 3.2% 3.2% 1 1 100 0.50
2 Landuse 21.0% 3 2.8% 2.8% 2 100 1 033
3 Slope 55.0% - 7.4% 7.4% S[200 Y|
Number of comparisons = 3 Principal eigen value = 3.018

Consistency Ratio CR = 1.9% Eigenvector solution: 3 iterations, delta = 1.7E-8
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Alternative Table for Criterion Coastal threat
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Priorities

These are the resulting weights for the criteria
based on your pairwise comparisons:

Cat Priority Rank  (+) ©
1 Flood 21.0% 3 2.8% 2.8%
2 Coastlinechange 24.0% 2 3.2% 3.2%
3 Tectonic process 55.0% - 7.4% 7.4%

Number of comparisons = 3
Consistency Ratio CR = 1.9%

Decision Matrix

The resulting weights are based on the principal eigenvector of
the decision matrix:

1 2 3
1 1 1.00 033
2 1.00 1 050

3 3.00 200 1

Principal eigen value = 3.018
Eigenvector solution: 3 iterations, delta = 1.7E-8
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Priorities

These are the resulting weights for the criteria
based on your pairwise comparisons:

Cat Priority Rank  (+) ©

1 Autonomous 185% 2 3.1% 3.1%
2 Anticipatory 15.6% 3 2.7% 2.7%
3 Presistent 65.9% - 11.2% 11.2%

Number of comparisons = 3
Consistency Ratio CR = 3.0%

Decision Matrix

The resulting weights are based on the principal eigenvector of
the decision matrix:

1 2 3
1 1 1.00 033
2 1.00 1 0.20

3 3.00 5.00 1

Principal eigen value = 3.029
Eigenvector solution: 3 iterations, delta = 5.2E-8
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Priorities

These are the resulting weights for the criteria
based on your pairwise comparisons:

Cat Priority Rank ) (6]
1 Human activities 61.4%- 16.5% 16.5%

2 Environmental 26.8% 2 7.2% 7.2%

3 Coastalthreats 11.7% 3 3.1% 3.1%

Number of comparisons = 3
Consistency Ratio CR =7.7%

Decision Matrix

The resulting weights are based on the principal eigenvector of

the decision matrix:

1 2 3
1 1 3.00 4.00
2 033 1 3.00

3 025 033 1

Principal eigen value = 3.074
Eigenvector solution: 4 iterations, delta = 5.9E-8
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Alternative Table for Criterion Human activity
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Priorities

These are the resulting weights for the criteria
based on your pairwise comparisons:

Cat Priority Rank  (+) ©

1 Population 185% 2 3.1% 3.1%
2 Built 15.6% 3 27% 27%
3 Road 65.9% - 11.2% 11.2%

Number of comparisons = 3
Consistency Ratio CR = 3.0%

Decision Matrix

The resulting weights are based on the principal eigenvector of
the decision matrix:

1 2 3
1 1 1.00 033
2 1.00 1 0.20

3 3.00 5.00 1

Principal eigen value = 3.029
Eigenvector solution: 3 iterations, delta = 5.2E-8




